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SR 25 4 4 H 98.5 14 N. D. 2. 20 12.5
5 H 42.0 7 N. D. 1. 70 11. 60
6 H 61. 4 N. D. 1. 70 2. 60
7H 446. 6 16 N. D. N. D. N. D.
8 H 283. 2 10 N. D. N. D. N. D.
9 H 219.5 11 N. D. 3. 00 2. 40
104 251.0 12 N. D. N. D. N. D.
114 93.7 15 N. D. 1.90 4.90
12A 76.5 10 N. D. N. D. N. D.
SR 26 45 1 H 43.0 N. D. 1.90 9.30
2 H 25.0 N. D. N. D. N. D.
3 H 130.0 12 N. D. 1. 90 3. 00
OO 1770. 4 127 N. D. 3. 00 N.D. ~12.5
AR £ TolE 3EMoE Y 268 N.D. 195.9 N.D. ~1872. 4
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™4 S T 1210.063 | 1.31 | 0.18 | 2.44 | N.D. | 1,090 7L MBq/km?
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NOA3E | BRI | H25.11 | 1 0.074 0. 159 N.D. | 0.276 2L
3L &[] T H25. 7 1 N.D N.D N.D. |9.24 L Bq/L
HEK PEEFHT H25. 7 1 N.D N.D N.D N.D 2L mBq/L
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(1) B&R T
W g T=H Y TRAR (nGy/h)
e A = I P fE

Wk 2 544 A 21 38 23

5H4 20 30 22

6 H 20 33 22

7H 21 44 24

8 H 21 59 23

94 21 37 22

104 20 35 23

114 21 44 24

124 21 44 23

Pk 2 6451 H 19 44 22

2 A 20 54 22

3 A 18 39 23

£ M | 18 59 22

AT &£ T ol % 3 F R OfE 13 60 22
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e AR = I P2 fiE

Pk 2 544 H 50 79 53

5H4 49 64 51

6 H 50 66 52

7H 48 87 52

8 H 48 108 51

9 A 47 72 50

104 46 70 49

114 46 90 50

124 35 82 44

k2 6451 H 29 66 32

2 A 20 80 26

3 A 18 57 26

£ M E 18 108 45




(3) AE&H

T U TRA R (nGy/h)

W Il e T
Rk 2 544 A 30 54 32
51 30 44 31
6 H 30 48 32
71 30 57 33
8 H 30 73 33
9 A 30 53 32
10H 30 39 32
11H 29 57 33
12H 29 50 32
YRR 2 6451 A 22 66 28
2 A 22 62 26
3 A 24 62 30
£ M | 22 73 31
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R e S fE
Rk 2 544 A 75 99 9
51 74 86 78
6 H 73 95 78
71 72 95 77
8 H 71 91 76
9 A 70 87 75
10H 69 79 74
11H 69 93 73
12H 62 92 72
Fik 2 641 H 52 95 60
2 A 51 84 59
3 A 60 83 69
£ M | 51 99 73
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T U TRA R (nGy/h)

woE SIS S T
Wk 2 544 A 45 66 49
5A 45 61 48
6 A 45 70 49
7 H 44 75 49
8 A 45 91 49
9 A 44 63 48
10H 44 58 47
11H 45 61 47
12H 44 55 47
Fik 2 641 H 43 69 46
2 A 28 64 39
3 A 32 60 44
£ M | 28 91 47
(6) AH&T
woE e R T=HX YT n:x L (nGy/h)
e A I fiE ) fE
Wk 2 544 A 49 64 50
5A 48 59 50
6 A 49 63 50
7 H 48 75 51
8 A 48 84 51
9 A 48 63 51
10H 48 69 50
11H 49 73 50
12H 46 66 50
Fik 2 641 H 47 64 49
2 A 24 71 36
3 A 29 62 38
£ M | 29 84 48
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T U TRA R (nGy/h)

woE SIS S T
Wk 2 544 A 26 45 28
5A 26 41 28
6 A 26 43 29
7 H 26 51 29
8 A 25 62 29
9 A 25 49 28
10H 25 49 28
11H 25 49 29
12H 23 51 27
Fik 2 641 H 23 46 25
2 A 17 56 22
3 A 21 47 25
£ M | 17 62 27
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woE e A T=HXY T n:x L (nGy/h)
e A I fiE ) fE
Wk 2 544 A 48 65 50
5A 47 59 49
6 A 48 73 51
7 H 47 69 51
8 A 47 88 50
9 A 47 64 49
10H 47 68 49
11H 47 71 49
12H 47 55 49
Fik 2 641 H 47 61 49
2 A 32 67 42
3 A 35 70 46
£ M | 32 88 49
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HoE FEA
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e A = I P fE

Wk 2 544 A 55 72 57

5H4 53 67 57

6 H 54 71 56

7H 53 74 56

8 H 53 82 56

94 53 64 55

104 52 60 54

114 52 65 54

124 52 65 54

Fik 2 641 H 51 74 54

2 A 50 68 53

3 A 50 66 53

£ M | 50 74 55
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woE e A T=HX YT n:x K (nGy/h)
e A = I P fE

Wk 2 544 A 78 103 83

5H4 77 93 79

6 H 75 101 78

7H 72 93 77

8 H 72 87 75

9 A 70 86 73

104 68 80 72

114 62 95 71

124 50 81 62

Fik 2 641 H 53 80 58

2 A 41 82 51

3 A 57 83 63

£ M | 41 103 70




